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& 45z K £ ouT IN TOTAL | HDCP NET
& B B3 & 39 | 40 | 79 | 8 | 71
S AR 5 44 | 39 | 83 | 12 | 71
3 4 = 38 | 38 | 76 | 2 | 74
4 f FII Fok 43 | 39 | 82 | 8 | 74
5 fi =R ER 43 | 43 | 86 | 11 | 75
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& 45z K £ ouT IN TOTAL | HDCP NET
B B Bl BE= 43 | 46 | 89 | 20.4 | 68.6
R BA #E 45 | 48 | 93 | 228 | 70.2
3 fi =R 39 | 42 | 81 | 96 | 714
4 f ;IO &RER 41 | 42 | 83 | 108 | 72.2
5 fi InE 44 | 45 | 89 | 16.8 | 72.2
10 f & <H3 45 | 42 | 87 | 132 | 738
20 {1 g 67 40 | 50 | 90 | 144 | 756
BB A &= 57 | 57 | 114 | 32.4 | 81.6
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